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BHEIOA  KikaA AdF23A

JEAL ZNE K4 3] B |GROSS HDCP | NET |crossiii ==
EE 41 40)  81/14.0 167.0 B
2 |IBF 40 42]  82]14.0 168.0 YEME RS
3 AR x 40 41 81/12.0 [69.0 3 fir
4 |[EE 39 38] 77/ 7.0 170.0 407 BG
5 R * 40 40/ 80! 9.0 [71.0 5 fir
6 B 39 42]  81[10.0 |71.0 6 fir
7 [ EA % 41 40]  81] 9.0 172.0 7 {1
8 |fHHE  *x 49 43| 85/13.0 |72.0 8L
9 |EHEF *x 40 43]  83/11.0 [72.0 9 fir
10 [FRRE 40 42] 82/ 9.0 173.0 1042
11 [IIF =k 42 45/  87/14.0 [73.0
12 [BERT = 43 43]  86/12.0 [74.0
13 [HFfT ek 42 46 88/14.0 [74.0
14 [BE *x 41 41 82 7.0 75.0
15 | RALR 43 45|  88[13.0 [75.0 RE
16 [BEAS 42 43 85 9.0 176.0
17 B *x 43! 41 84 7.2 176.8
18 MR, *x 45 41| 86! 8.0 178.0
19 [RBIg  *x 50 431 93/14.0 179.0
20 A ok 48 44 92]12.0 /80.0 KE
21 EBEXA E/F 50 46]  96/14.0 [82.0 |
22 |HIA bk 46 511  97[14.0 [83.0
23 KR % 48| 51 99'14.0 [85.0
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[[1=tva BINE K4 B | H |GROSS|HDCP| NET |crossiis s
1 |FER 471 38/ 85/17.0 168.0 B BG
2 [fhiEpy ek 45 43|  88/18.0 |70.0 YER IS
3 i s 43 431  86116.0 [70.0 37
4 [FtE = 46 46]  92122.0 [70.0 4L
5 |HiF xx 51 49/ 100128.0 172.0 5 fir.
6 |Fazk *x 44 50/  94[22.0 [72.0 6 fiL
7 IR xx 49 431 92119.0 173.0 7{iL
8 UHT *x 44 511 95/22.0 173.0 8 fir
9 IR xx 43 46/  89/15.0 [74.0 9 fir
10 [FHE *x 47 46|  93[18.0 |75.0 1047
11 FRA  *k 51 52/ 103128.0 175.0
12 B kx 46 49]  95120.0 [75.0
FEEEE 54 49 103/27.6 |75.4
14 [BEH 46 49  95[19.0 176.0
15 [FEE  *xx 50 481 98121.6 176.4 RE
16 JIdk  *x 46 46!  92]15.0 177.0
17 [FRUE ek 55 52! 107/28.8 '78.2 |
18 AR 46 49|  95[16.8 |78.2
19 [HJI ek 51 49| 100/121.6 [78.4
20 |BEFD ok 53 52 105/26.0 179.0 RE
21 BEH  Hx | 56 59/ 115/36.0 [79.0
22 | FEF *x 50 611 111/32.0 [79.0
23 |FHHE  *x 50 46/  96/16.8 179.2
24 M ek 51 61 112/32.4 179.6
25 \ERIE kx 57 57/ 114/32.4 [81.6 RE
26 [ILE = 48 53] 101/19.0 [82.0
27 KA * 61 56| 117133.6 (83.4
28 |TE *x 51 60/ 111]27.6 [83.4 |
29 EBA &EF 56 47| 103'19.0 [84.0 |
s 63 58] 121136.0 185.0 HE
31 R x 50 53] 103/18.0 [85.0
32 B3 kk 56 53] 109(22.8 186.2
33 [MEAE % 58 66] 124/36.0 /88.0
34 |5R * 64 61/ 125/36.0 189.0
35 FbR 68 50/ 118/17.0 |10L.0 ITRE
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